1= SetDirectory[" /wwy/user /fdahl /paper s/Conj ugation/"1;
<< kappaLi b. m
<< Petrov. m

KappaLib v1.1

Petrov routine | oaded

m Class XVII: (211 1bar(1))

000100
000010
- B = 000O0O0T1
100000/
010000
001000
lanl 1 0 0 0 0
0 lant O 0 0 0
el V= 0 0 lan2 O 0 0 )
0 0 0 lanB 0 0 '
0 0 0 0 sigml taul
0 0 0 0 -taul sigmal

ine:= Ei genval ues [V]

oufel= {l amL, laml, |an2, | anB, sigmal -itaul, signal +itaul}

0O epsl O 0O 00O
epsl 0 0 0 00
0 0O eps2 0 0O
- W= :
In[7] O 0 0 eps3 00/
0 0 0 0 01
0 0 0 0 10

ing:= Ei genval ues [W

ougl= {-1, 1, -epsl, epsl, eps2, eps3}

m eps2 and eps3 have the same block size so we may assume that eps2 <= esp3. From Eigenvalues[W]
we see that eps2 and eps3 can not be of the same sign.

= W= W/. {eps2 » -1, eps3 -» 1};
Ei genval ues [W

oufio= {-1, -1, 1, 1, -epsl, epsl}

m epslis arbitrary

1= Sort [Ei genval ues[W /. {epsl - -1}]
Sort [Ei genval ues[W /. {epsl - 1}]

oui= {-1, -1, -1, 1, 1, 1}

oufiz= {-1, -1, -1, 1, 1, 1}



2| ClassXVll.nb

0 1 0 0O 0O
0 0 0 0 01
1 1
0 — — 00
In[13= S = V2 A2 :
epsl O 0 0O 0O
0 0 0 0 10
0 0--— 2 0o
NV

m Check that Sis in the set mathcal(S)
in[14]:= Transpose[S].B. S =W

outf14= True

= Compute result

n[1s):= res = S. V.l nverse[S];
res // Matri xForm

Out[16]//MatrixForm=

| aml 0 0 0 0 0

0 sigml 0 0 -taul 0
| an | anB | an | anB

0 0 >t 0 0 -t

epsl 0 0 | aml 0 0
0 taul 0 0 sigml 0

| an | anB | an2 | anB
0 0 -t 0 0 St
in[171= Petrov[res]
Out[17]//MatrixForm=

0 0 0 0 0 | aml
0 -taul 0 0 sigmal O
0 0 2 (-lan2+lanB) Long- a8 0 0
0 0 Lenamd > (-lang+lan8) 0 0
0 sigml 0 0 taul 0

| aml 0 0 0 0 epsl

= Export notebook as .pdf

inf18:= Not ebookPri nt [Sel ect edNot ebook [],
" /wwwy/user /f dahl /paper s/Conj ugat i on/not ebooks/Cl assXVI | . pdf " ]



